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Time : 3Hrs. Sem. V - EC/EC & Comm./ICE
M.P. & Appl.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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11.

gl 8—fae IR @ Siis @ fov gaweh

odad ¥ Ny fad e oiis 16 fae @l

Siis: 98H a1 9AH

OR(3721dT)

Find one's complement of a 16-bit number
i.e 5485H

Tdh 16—fdc AT & Td UH dUAHC g
®Y i.e 5485H

Write short notes on any two of the following;
(a) Logical instructions

(b) 555 Timers

(c¢) Dual slope type A/D

(d) Advanced features of 8086 microprocessor

frafafaa 7 9 & 31w fewolt fad—
(@) <ifStpa sagaeH

(@) 555 <cIgaRy

(1) IR Y YHR T/

(51) 8086 ATSHIUITAR & fawmfd <elor|
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(i)

(iif)

(iif)

(iv)
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IR ATHR & JTAR SIcd 8085
I & aiffepa fear war 3—
(@) I ysrRT A

(@) 9R YBRI ¥

SIRIER Carik:

(]) ®: ydRI ¥

Intel 8085 is an
(a) 8-bit microprocessor
(b) 16-bit microprocessor

(¢) 32-bit microprocessor
(d) None of these

gicd 8085

@) & s—dlc ASHIYIAER B

(@) s 16—dlc AZHIYIIR 2
(W) & 32—dIc AZHIYEET &
() 39 9 BIg T8

In Intel 8085 microprocessor there are:
(a) 30 pin
(b) 40 pin
(c) 50 pin
(d) 60 pin
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gIce 8085 AISHIUTAMR @ AMfbcdar | vi) f1 qrem A | I a1 99 SifSra
T BIS—<X aAT el Tl ) ATaeahdl T EdT 28—
B =T B | (@) g
@ 3R wad7s
OR (3reran) (W) 3 va & 55

() 3R g <1 65

Draw block diagram of Intel 8085 and explain (vi) In immediate addressing the operand is

their registers in brief. placed:

(a) In the memory
3Icd 8085 BT sl SIIUTH Hid TdAT (b) In the CPU register
S IRl B AT AT H B | (c) In the stack

(d) After opcode in the instruction

8. State and explain addressing modes of 8085 iy qRd YSRIT W SfRUS BET s

microprocessor in brief with examples. (@) AMH A
S (@) ¥ P 3 Fores
8085 WIZHIYIAEY & URFHT AIsl & IN 4 @) Wd A
IA™ AT SIS & 1T G&89 § SHB! () difudpls & 15 T W |
AT B
(viii)  Microprocessor 8085 can address location
OR (372rdT) upto:

(a) 32K

(b) 64K
Draw and explain the timing diagram for I/O (c) 128K
(Input/output) write operation. (d) 1M
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8085 ISV BT ATH—YART ST A
aeIm dferag aarear Y |

OR (3121an)

Discuss how memory chips and I/o devices are
interfaced to a microprocessor

ArsHIIER & 91 A9 g g s
frfa gfwat @A g7evwa gkt 2?2 aaren
B |

Discuss different application of 8253

8253 @ faf=1 SUAM ST qoi< BV |
OR (3121an)

Discuss the operating principle of a successive
approximation type A/D converter.

T$h AHARa TuRITHNET YR & QAT
A f$foted ddexy & a1 fugia &1 aviq
N |

State and explain 8086 instructions with one
program example. 4
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x)

(xi)

(xi)

(xii)

7 1621501

8085 ATSHIYINR & sOcqad ¥ fhaq
disc Sulkerd Y&d 27

(31) dadT TH

@) T a1 QA

(|) @, < ar =

() <1 a1 &=

Which one of the following addressing
technique is not used 8085 microprocessor?
(a) Register

(b) Immediate

(c) Register indirect

(d) Relative

=1 4 4 39 e IRET g 8085
ASHIYIER § Adgd -Tal ghar 27

(31) TR

(@) g

(7)) foreex Iuas

(<) amie

An I/o processor controls the flow of
information between.

(a) Cache memory and I/o devices
(b) Main memory and I/o devices

(c) Two I/o devices

(d) Cache and main memories
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(xx) gIce 8086 B—
(a1) ufa YRRAT Ars Bar 2|
(@) ®B: eSRIT ATs AT 2
(@) ara IR Ais Bar =1
(<) 3o USR{T Ais BIdT 2|

GROUPB
Answer all Five Questions.
_ 4x5=20
gl 9fg gyo il & Sx <
2. Describe the important applications of
MICroprocessors. 4

HISHIYIER & Hedqel SUINI &I qviq
&Y |
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g-cd 8251

(31) aREES ST WIARY & fog
qgd Bl @

(@) UMY 49R §9ckBd & fog
Iqgd ghar @

() 8085, 8086, 8088 ToIT 8748 UKl ®
1Y I8 9id @ fo¢ cgagd siar @

(%) Swiaa g+

The 8086 is a
(a) 8-bit, N channel microprocessor
(b) 16-bit, N channel microprocessor

(¢) 16-bit, P channel microprocessor
(d) None of these

8086
@) & 8—fie, g7 A9a AIEHIYTEER B
(@) & 16—fdc, U7 d9d ASHIYRER B
(@) T 16—fae, © d9a ASHIUTAIR 2
(?) s 9 @iIg 7

In 8086 microprocessor memory handling
capability is :

(a) 64KB

(b) 256KB

(c) IMB

(d) SMB
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